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Mr. Gardener has a box with 12 tomatoes. He gives 2 tomatoes to his sister and

another 7 tomatoes to his neighbor. How many tomatoes he have left? Show 

your work with a picture and number sentence.

10  +  2

12  =  2  +  10

10  =  7  +  3

Mr. Gardener has ___ tomatoes.

He gives tomatoes to his sister = __.

He gives tomatoes to his Neighbor = __.

Mr. Gardner has left with __ tomatoes.

Mr. Gardener has left with __ tomatoes.

Mr. Gardener has left with __ tomatoes.

He gives __ tomatoes to his sister.

He gives __ tomatoes to his sister.

He gives __ tomatoes to his neighbor.

He gives __ tomatoes to his neighbor.

By using number bond:

Work with a picture:

With number sentece:

For 

Neighbor

Remaining

(For sister)

7
10  -  7  =  __

3

Problem solving and understanding questions.

ADDITION/SUBTRACTION


